“ipritdl oy To 7Tz

0.0604

0.0602

0.06

0.0598

0.0596

0.0594

0.0592

0.059

0.0588

alphal3 4eX4aX:cyclenum {run == 6331}

X

|
5986 5986.2 5986.4 5986.6 5986.8 5987
cyclenum




alpha46_4eY4aY

2.58

2.56

2.54

2.52

2.5

2.48

2.46

2.44

alpha46_4eY4aY:.cyclenum {run == 6331}

X

|
59

86 5986.2 5986.4 5986.6 5986.8 5987
cyclenum




deltal3_11X12X4eX

-0.4

-0.41

-0.42

-0.43

-0.44

-0.45

—-0.46

deltal3 11X12X4eX:cyclenum {run == 6331}

X

|
59

86 5986.2 5986.4 5986.6 5986.8 5987
cyclenum



deltad6_11X12X4eY

0.38

0.36

0.34

0.32

0.3

0.28

0.26

0.24

0.22

0.2

0.18

deltad6 _11X12X4eY:cyclenum {run == 6331}

X

|
5986 5986.2 5986.4 5986.6 5986.8 5987
cyclenum
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